
BOLLETTINO UNIONE MATEMATICA ITALIANA

O. P. VARSHNEY

Note on H_2 summability of Fourier series.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 16
(1961), n.4, p. 383–385.

Zanichelli

<http://www.bdim.eu/item?id=BUMI_1961_3_16_4_383_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

Note on H_2 summability of Fourier series.

By O. P. VARSHNEY (a Sagar, India) (*).

Summary. - In this paper, a criterion for H_2 summability of Fourier series, similar to that of Wang (2), has been established. The condition of Wang has been weakened, and an order condition on Fourier coefficients has been imposed.

1. Let $S(f)$ i. e.,

$$(1.1) \quad \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nt + b_n \sin nt)$$

be the FOURIER series of an integrable function $f(t)$, periodic with period 2π , and let $\Phi(t) = \frac{1}{2} |f(x+t) + f(x-t) - 2s|$.

In this note we prove the following theorem.

THEOREM. - If (i) $\int_0^t |\Phi(u)| du = O\left(t \log^{-\frac{1}{2}}\left(\frac{1}{t}\right)\right)$ as $t \rightarrow 0$, and (ii) the coefficients of $S(f)$ are $O(n^{-\delta})$, $\delta > 0$, then $S(f)$ is summable H_2 to sum s for $t = x$.

Since instead of $S(f)$ we may consider $S(\Phi)$, let us assume that $x = 0$, $f(x) = f(-x)$, so that $\Phi(t) = f(t)$. For the sake of convenience we suppose that $a_0 = 0$. We write $r = \frac{\delta}{2}$ and $s_n = \sum_1^n a_v$.

In order to prove this theorem, we require the following lemma.

LEMMA. - If $|a_n| < n^{-\delta}$, $0 < \delta < \frac{1}{2}$, and

$$(1.2) \quad F(t) = \int_0^t |f(u)| du = O(t) \text{ as } t \rightarrow 0$$

then

$$\left(\frac{1}{(n+1)} \sum_{v=1}^n s_v^2 \right)^{1/2} \leq \left(\frac{4}{\pi^2(n+1)} \int_{1/n}^{n-r} \frac{f(t)}{t^2} dt \int_{1,n}^t f(u) \frac{\sin n(u-t)}{u-t} du \right)^{1/2} + O(1).$$

(*) Pervenuta alla Segreteria dell'U. M. I. l'11 settembre 1961.

Proof. - By (1.2) we obtain

$$\begin{aligned}
 s_\nu &= \frac{2}{\pi} \int_{n^{-1}}^{\pi} f(t) \frac{\sin \nu t}{t} dt + O(1) \quad (\nu \leq n) \\
 &= \frac{2}{\pi} \left(\int_{n^{-1}}^{n^{-r}} + \int_{n^{-r}}^{\pi} \right) f(t) \frac{\sin \nu t}{t} dt + O(1) \\
 (1.3) \quad &= P + Q + O(1),
 \end{aligned}$$

say. Using the arguments of ZYGMUND ⁽¹⁾, we have

$$\begin{aligned}
 |Q| &= \left| \sum_{k=1}^{\infty} a_k \frac{2}{\pi} \int_{n^{-r}}^{\pi} \frac{\sin \nu t \cos kt}{t} dt \right| \\
 &\leq O(\nu^{-\delta} \log n) + \frac{4}{\pi} \sum_{k=1}^{\nu-1} \frac{k^{-\delta} n^r}{\nu - k} + \frac{4}{\pi} \sum_{k=\nu+1}^{\infty} \frac{k^{-\delta} n^r}{k - \nu} \\
 (1.4) \quad &= O(n^r \nu^{-\delta}) + \frac{4}{\pi} Q_1 + \frac{4}{\pi} Q_2,
 \end{aligned}$$

say. Now

$$(1.5) \quad Q_1 < \frac{n^r}{\nu/2} \sum_{k=1}^{\lfloor \frac{\nu}{2} \rfloor} k^{-\delta} + n^r \left(\frac{\nu}{2} \right)^{-\delta} \sum_{k=\lfloor \frac{\nu}{2} \rfloor + 1}^{\nu-1} \frac{1}{\nu - k} = O\left(\frac{n^r \log n}{\nu^\delta} \right)$$

and

$$(1.6) \quad Q_2 < \frac{n^r}{\nu^\delta} \sum_{k=\nu+1}^{2\nu} \frac{1}{k - \nu} + n^r \sum_{k=2\nu+1}^{\infty} \frac{k^{-\delta}}{k/2} = O\left(\frac{n^r \log n}{\nu^\delta} \right).$$

Combining (1.3), (1.4), (1.5) and (1.6) we obtain for $\nu \leq n$

$$\begin{aligned}
 s_\nu &= \frac{2}{\pi} \int_{n^{-1}}^{n^{-r}} f(t) \frac{\sin \nu t}{t} dt + O(1) + O\left(\frac{n^r \log n}{\nu^\delta} \right) \\
 &= \sigma_\nu + O(1) + O(n^r \log n \nu^{-\delta}), \text{ say.}
 \end{aligned}$$

(1) ZYGMUND, *Trigonometrical series*, (1935) p. 35.

Hence we get

$$\begin{aligned} \left(\frac{1}{n+1} \sum_{v=1}^n s_v^2\right)^{1/2} &\leq \left(\frac{1}{n+1} \sum_{v=1}^n \sigma_v^2\right)^{1/2} + 0(1) + O\left(\frac{n^{2r} \log^2 n}{n+1} \sum_{v=1}^n v^{-2\delta}\right)^{1/2} \\ &= \left(\frac{1}{n+1} \sum_{v=1}^n \sigma_v^2\right)^{1/2} + 0(1), \end{aligned}$$

The proof is now similar to WANG's lemma (2).

2. *Proof of the theorem.* It follows from the hypothesis that

$$\int_{n^{-1}}^t f(u) \frac{\sin n(u-t)}{u-t} du = O\left(n \int_0^t |f(u)| du\right) = O\left(\frac{nt}{\log^{1/2}\left(\frac{1}{t}\right)}\right).$$

Hence we get

$$\begin{aligned} &\int_{n^{-1}}^{n^{-r}} \frac{f(t)}{t^2} dt \int_{1/n}^t f(u) \frac{\sin n(u-t)}{u-t} du \\ &= O\left(n \int_{n^{-1}}^{n^{-r}} \frac{|f(t)|}{t \log^{1/2}\left(\frac{1}{t}\right)} dt\right) \\ &= O\left[\int_{n^{-1}}^{n^{-r}} \frac{nF(t)}{t \log^{1/2}\left(\frac{1}{t}\right)} dt + \int_{n^{-1}}^{n^{-r}} \frac{nF(t)}{t^2 \log^{1/2}\left(\frac{1}{t}\right)} dt - \frac{1}{2} \int_{n^{-1}}^{n^{-r}} \frac{nF(t)}{t^2 \log^{3/2}\left(\frac{1}{t}\right)} dt\right] \\ &= 0(n) + 0(n) \left(\int_{n^{-1}}^{n^{-r}} \frac{1}{t \log\left(\frac{1}{t}\right)} dt\right) = 0(n). \end{aligned}$$

The theorem now follows from the lemma.

I am indebted to Prof. M. L. MISRA for his advice in preparing this note.

(2) WANG, «Duke Math. Journal», vol. 12 (1945) pp. 77-8.